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Problem 5 (9 pts): The total growth G = G(p, u) of a plant depends on the amount
of energy p that the plant produces via photosynthesis, and the amount of energy u that
the plant uses to grow. In turn, each of these energy amounts depend on the quantities
of water w, oxygen o, and minerals m that are available for the plant, that is,

p = p(w,o,m) and u = u(w,o,m).

- decivottve
Find formulas for the rates of change of total plant growth with respect to variations
in each of water, oxygen, and mineral availability, that is, compute formulas for:
(Use a diagram showing how these quantities depend on each other!)
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